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O NEZ &4 4E 2¢
50,000& = 48 33l 600
O NMEE Heg&8 27 ¢
30,0003 = 402 = 23] 2,400
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2AMd: 2322
Hu: o2y o 25 2 el
Cel: DR XM Y BBA FH CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o SEUIE AAMRL L HEZSR
oI AMAE =2 1,200
100,000& * 12&
o gct s0E o0& =08 L= b
SH B&8= 210
0 SEZZX(SMHLR) X JAuha
M BE= 8,000
O SZHLE MEZ RIIHXA 6,787
401 AIEHIZ 28I 10,000 0 10,000
01 A& Hl 10,000 0 10,000
O MEFIMEAY 10,000
0o =dH MHISE F=XE LEDEX 10,000
ZZ AL (L2 ELHO HHE2ZX SHAY) 1,500,000 1,900,000 A 400,000
< 800,000
Al 700,000
201 Let24E] 245,000 247,000 A 2,000
< 245,000
01 At 2teltl 25,000 27,000 A 2,000
O E22Z2X SEAY 22 25,000
< 25,000
03 A2 Z Hl 220,000 220,000 0
O EM4HOt22ZX 2339 S K& 200,000
< 200,000
O =del BEO 20,000
< 20,000
202 Odl 5,000 3,000 2,000
< 5,000
01 = LHA YI 5,000 3,000 2,000
O HE2ZX AXX AS ¢l 5,000
< 5,000
401 Al B2 2B 1,250,000 1,650,000 A 400,000
< 550,000
Al 700,000
01 A& HI 1,247,010 1,647,030 A 400,020
O 2ZES8HO2ZX =4 947,010
< 548,505
Al 398,505
O 23HEnZEXN Z4AH= Ha L AAEH
2o 300,000
03 Al 20 HI 2,990 2,970 20
O 222AHH0 HE2ZX LAY 2,990
< 1,495
Al 1,495
AMAl SE2ZX 1XAF(SHUZR) &AJAEEX & 157,112 0 157,112
BN
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AN 23220
a2 Oy 25 2 2
ool RPXES EH L 2 I EERED
(o
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
TAIEHI 20| 167,112 0 167,112
01 A& dl 167,112 0 167,112
O A&tAl SE2ZX 1XNR(SHUZR)
SILAE R A 2=t 157,112
SZMHZTE 22 EX (0, FXUHE) SA 100,000 0 100,000
401 AIEHIZ 2 I 100,000 0 100,000
T A28l 100,000 0 100,000
O SZLHUHSE B2 24 SAtHI 100,000
22X (22 EAH0H, 30, ) 3L A2 171,000 0 171,000
401 AIEBI L 2CHEI 171,000 0 171,000
01 A& dl 171,000 0 171,000
O 2Z24H0HSE, S02EX AEEFAE 150,000
O daaB3HdAd 21,000
o SEHIF HI4RT AHHEA &1 10,000
0o SMHUSFH HEdFZHEEA EX 11,000
HY2IZH (S22 ) 66,707 63,327 3,380
el 2l 41,601 38,221 3,380
el 2| 41,601 38,221 3,380
101 1248l 41,601 38,221 3,380
02 JIEtEE = 41,601 38,221 3,380
O ANt MDA (2t2) (Ot 282 sHol) 41,601
o =0 2,732,570& = 198 « 128 32,791
o A2 X 140,000& = 1& = 12& 1,680
o a4 130,000& » 1&H = 12& 1,560
o IE=E 60,000& = 1& * 12 720
o ExXEH 2,732,570 * 5% » 12& 1,640
o (el &St 50,000& » 12& 600
o HItE 4| 2,732,570 *86%+1/30% 10 784
o 8IS 152,160& » 18 = 128 1,826
Jl=23dl 25,106 25,106 0
Jl= &4 25,106 25,106 0
201 fEt2E | 21,506 21,506 0
01 AtR 2t 2l Hl 21,374 21,374 0
O =AEXN 7 3,082
O Zgy EH, =8 2¢ 4,780
O JIEH AtR2teltl 13,512
02 32224l 132 132 0
O Regs MER 11,0008 * 128 132
203 @2 =&l 3,600 3,600 0

_43_




e

_|L
0
gl
ol
0H

R0

30 o
0H |0
RO I{J
w0 ~

X FH -
o Tt
=Ea

<

no
Klo
E
E=]
o
3
o=
WH3r
il
RS
o o
3 3
© o
aor
<
(=
il
Y
or -
) ®
Y =
- | g
D ™
=
I+
= =
Py _ R
= |3
o _ﬂf ok
= o ¥
O |z X
a1 ww
* 0H
) x I+
RO I O
. S
X
I+

_44_



